

Student Tuition per class

Discounts (not to exceed 10%)

Adirondack Dance Academy

2024-2025

23 Durkee St., Plattsburgh, NY 518-335-7385 info@Adirondackdance.com

Registration		Referred by					
Student Informati	on						
Student Name							
Student Nick Name							
Birth date (MM/DD/YY)							
School							
Grade							
Please enter class time under day attending Monday		Tuesday	Wednesday	Thursday	Friday	Saturday	
Class 1 – indicate Day & Time							
Class 2							
Class 3							
Class 4							
Class 5							
Billing Information (prior students need only complete if new info.)							
Father's Name							
Mother's Name							
Mailing address							
Home phone							
Mobile or cellular phone							
e-mail address for billing							
e-mail address for communications							
Emergency and Me	edical Inforr	nation	(prior stude	nts need or	ly comple	te if new	info.)
In case of emergency, contact (prior students need only complete if new info.)					-		
Emergency contact's address							
Emergency contact's phone							
Doctor's name & phone #							
Know Allergies							
Current Medications							
Known Medical Conditions							
Tuition Dance year is Sept. 9 – June 14, 2025							
Student Registration Fee \$25.00 (\$20 for the 2nd child, \$15 for the 3 rd child enrolled) – NON REFUNDABLE							

1) 5% if by Oct.. paying in full

Adirondack Dance Academy

There are 10 months of dance classes. You will have only 9 tuition payments, starting in Sept. ending in May. Monthly payment will be the same each month as your total tuition due is divided by the 9 months.

All tuition payments are due on the 1st of each month. If the payment is not received by the 15th, a \$20.00 late fee will be charged.

RELEASE TO BE COMPLETED BY PARENT OR GUARDIAN OF (child's name)

FINANCIAL POLICY

I agree to pay for all classes my child attends at Adirondack Dance Academy and/or Adirondack Dance Company. All payments are due in full at the beginning of each month.

<u>Methods of Payment</u>: Our studio accepts Cash, debit/credit cards and personal Check, and Student financing options for those students who make prior payment arrangements.

\$35.00 NSF charge for any returned check. Charges and fees are to be settled within two weeks from the date in which notified of the NSF.

If not paid according to the terms above I understand that the studio reports to an outside collection agency. In the event that your account is turned over for collections, parents agree to pay all additional fees accessed in the collection of the debt. These fees include collection agency fees, attorney's fees and small claims court fees.

Parents are ultimately responsible for all fees for classes. I have read, uprofessional classes rendered by Adirondack Dance Academy and Adirondack Dance Academy	
"X" Signed:	Date:
Media Release	
I give permission for my child to participate in media activities involving the also understand that any pictures and/or video may be used by the Adironda publicity and/or program promotions. I reserve the right to withdraw this pe	ck Dance Academy and/or Adirondack Dance Company for future
"X" Signed:	Date:
Medical and Liability Release	
I am the parent/guardian and I warrant that to the best of my knowledge and became Academy and/or Adirondack Dance Company. With my approvation examination that there is no medical evidence, which would preclude his/hadiological examination to establish the absence of Atlantoaxial Instability	al, a license physician has certified based on an independent medical er participation. I understand that if he/she has Down Syndrome, a full
If a medical emergency should arise during his/her participation at dance at his/her care, I hereby authorize Adirondack Dance Academy and/or Adirondacks of ensure that he/she is provided with any emergency medical transformation and/or Adirondack Dance Company deems advisable in order to protect his/	indack Dance Company, on my behalf, to take whatever measures are reatment including hospitalization, which Adirondack Dance Academy
I have read and fully understand the provisions of the above financial and me to the above provisions on my own behalf and that of my child. I also realize I therefore will not hold the Adirondack Dance Academy, Adirondack Dance that comes to my child while he/she is participating in this program. There Company's rehearsals and performances.	the potential risk involved with my child's participation in this program. e Company, its teachers, volunteers or their agents responsible for harm
"X" Signed:	Date:
If not signed by parent, please indicate relationship to student (e.g., grandpa)	rent, aunt, uncle, etc.)

Adirondack Dance Academy

Tuition is non-refundable; however it is pro-rated as to the start date. If a student wants to drop classes, please notify your instructor 1 month in advance. (You will be responsible for payments up to and including that month.) To maintain your eligibility for pointe work, the student must take regularly 3 ballet classes per week at Adirondack Dance. To maintain eligibility for prepointe, the student must take regularly 2 ballet classes per week at Adirondack Dance. This is to insure the safety of your dancer. Please see Ms. Koester if you have questions. When appropriate, your dancer will start pre-pointe/pointe work.

The Adirondack Dance Academy follows the principles of the Cecchetti Method of dance. The Director has attained her Licentiate with Cecchetti USA & Cecchetti International. She currently serves as Chair of the National Committee of CUSA and made all arrangements for the CUSA Summer Residential Course. Recently, Ms. Koester served as Cecchetti USA Ambassador to Italy in 2017.

NO PART OF THIS DOCUMENT MAY BE OMITED. FAILURE TO SIGN THIS WILL RESULT IN NO CLASSES AT OUR STUDIO.

Tuition: 2024-2025

Day	Time	Duration	Class	# of Weeks	Price per class	Total Due
Monday	4:15 – 5:15	1 hr.	Primary/Standard 1 Ballet	31	\$11.00	\$341.00
	4:15-5:45	1 hr.30	Intermediate (Gr 4/5)	31	\$14.50	\$449.50
	4:30-5:45	1.15 hr	Elementary (Cecchetti ST 3/ Gr 3) Prepoint & Ballet	31	\$13.50	\$418.50
	5:15 - 7:30	2 hr. 15 min.	Advanced ballet/Pointe/Pas de deux	31	\$18.75	\$581.50
	6:15-7:00	.45 min.	Zumbini by Sara Acors	*Sessions		
Tuesday	5:15-6:15	1 hr	St. 2/Gr 2	34	\$11.00	\$374.00
	4:30 - 5:45	1.15 hours	Elementary (Cecchetti St 3/Gr 3)	34	\$13.50	\$459.00
	4:15-5:45	1.30 hours	Intermediate Ballet (Pre)Pointe Cecchetti Gr 4/5	34	\$14.50	\$493.00
	5:15 - 7 :30	2 hr. 15	Advanced Ballet/Pointe/Variations	34	\$18.75	\$637.50
	6:15 – 7:15	1 hour	Jazz (ages 8 and up)	34	\$11.00	\$374.00
	7:15 – 8:15	1 hour	Modern (ages 12 & up)	34	\$11.00	\$374.00
Wednesday	4:30 - 6:00	1 hr. 30 min.	Intermediate Cecchetti Gr. 4/5/(Pre)pointe	34	\$14.50	\$493.00
	4;15 -5:15	1 hour	Acro/ Pom Dance Level 1 & 2	34	\$11.00	\$374.00
	5:15 – 7:30	2 hours 15 min.	Advanced Ballet/Pointe/ variations	34	\$18.75	\$637.50
	7:30-8:15	45 min.	Cecchetti Grade 10	34	By invitation	TBA
	6:30 -7:30	1 Hour	Adult Ballet	*Sessions	\$11.00	1
Thursday	4:15 – 5:15	1 Hour	Standard 1 Ballet	34	\$11.00	\$374.00
	4:15 – 5:15	1 Hour	St 2/Gr 2	34	\$11.00	\$374.00
	4:15 – 5:30	1.15 hour	Elementary Cecchetti ST 3/Gr /3 Ballet	34	\$13.50	\$459.00
	5:15 – 6:15	1 hour .	Fundamentals of Technique	34	\$11.00	\$374.00
	5:15 – 6:30	1 hour 15 min.	Intermediate (Cecchetti Gr 4-5) Ballet & (Pre)pointe	34	\$13.50	\$459.00
	5:15 - 6:15	1 hour	Non Competitions Irish Dance: Sessions	*Sessions	\$11.00	
Friday*	4:15 – 5:15	1 hour	Musical Theatre & Jazz	33	\$11.00	\$363.00
	5:15-6:45	1 hour 30 Mins.	Ballet Technique for Cecchetti Gr 4 & up	33	\$14.50	\$478.25
	4:30-5:15 5:30 - 6:15	1 hour	Zumbini with Sara Acors	*Sessions		
Saturday	9:00-10:00	1 hour	Kinder/Primary	31	\$11.00	\$363.00
	9:30-10.15		Zumbini by Sara Acors	*sessions		
	10:00– 12:45	2 hr. 45 min	Intermediate & Advanced Ballet/Pointe/Character	31	\$18.75	\$581.25
	12:45 – 1:30		Teachers & Assistants class	ssistants class 31 By invitation		of Director

Adirondack Dance Academy

Classes added according to demand. Classes are required to meet minimum registrations to commence. Per Session: TBD.

New Students are welcome to join classes at any time during the year.

Tuition is pro-rated at the time your dancer joins.

Adirondack Dance Academy is home to the Adirondack Dance Company and Liturgical Dance Troupe. The Ballet Company presented Pe Sleeping Beauty last spring and an Evening of the Arts. It is not necessary to attend classes at Adirondack Dance Academy in order to participate in the Company or Dance Troupe. Everyone is welcome! However, in order to facilitate rehearsals for the Liturgical Dance Troupe, the director is requiring that all Troupe members take 1 class together once a week at Adirondack Dance Academy